0..0..8 .48k

Adigao até 100 (horizontal)

Nome: Encontro: Data:
70+91 = 37 +48 = 2+55=
100+42 = 36 +51 = 1 +85=
5+89 = 95+61 = 7+13 =
40+2 = 94 +79 = 52+63 =
75+90 = 78 +77 = 90 +27 =
81+17= 15+17 = 9+83=
98 +4 = 92 +78 = 24 +16 =
18+50= 91 +44 = 3+77 =
48+12 = 24420 = 84 +25 =
14+40 = 81+89 = 11+57 =
6+7 = 35+99 = 56+87 =
15+55= 26+51 = 53+97 =
63+9 = 48+ 6 =
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Pontuagao:

54+69 =

97 +39 =

96 +42 =

11+8 =

60 +2=

4+45=

0] +88 =

44462 =

20+17 =

35+44 =

26 +94 =

56 +58 =
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Adigao até 100 (horizontal)

0..0..8 .86
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Nome: Encontro: Data: Pontuagao:
70+91 =161 37+48 =85 2+55=57 54+69 =123
100+42 =142 36 +51 =287 1 +85=286 97+39=136
5+89=94 95+61 =156 7+13=20 96 +42 =138
40+2 =42 94 +79=173 52+63 =115 11+8=19
75+90 =165 78 +77 =155 90 +27 =117 60+2 =062
81 +17=098 I5+17=32 9+83=92 4+45=49
98 +4 =102 92+78=170 24+16=40 91 +88=179
18+50=068 91+44 =135 3+77=280 44+ 62 =106
48 +12 =060 24+20=44 84+25=109 20+17 =37
14+40 =54 81 +89=170 11 +57=68 35+44 =79
6+7=13 35+99 =134 56 +87 =143 26+94 =120
15+55=70 26+51 =77 53+97=150 56+58=114
63+9=72 48 +6 =54


https://www.snowmath.com

